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Qn. 1 Q(_3

Correct Answer: b) 2 and 3 only

Explanation:

1. Statement 1: The Deputy Chairman is subordin S{he Chairman of the Rajya

Sabha
o Incorrect: The Deputy Chairman is not s i to the Chairman. While they perform
duties in the absence of the Chairman,flgq directly responsible to the Rajya Sabha
and function independently.
2. Statement 2: The Deputy Chairm ms the duties of the Chairman when the

Vice-President acts as the Presideqt Of India
o Correct: As per the Constititi e Deputy Chairman steps in to perform the
Chairman's role when t -President (who is the ex-officio Chairman of the Rajya

Sabha) discharges the funstions of the President.
3. Statement 3: The De airman’s salary is charged on the Consolidated Fund of

nd allowances of the Deputy Chairman are fixed by Parliament and
charge onsolidated Fund of India, ensuring independence and non-disruption
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Qn.3

Correct Answer: a) 1 and 2 only

Explanation:

1. Statement 1: The Tansen Samman is awarded annually by the Governmentp@
Madhya Pradesh to honor outstanding contribution to Indian classical m
o Correct: The Tansen Samman is indeed an annual award instituted by the %
Pradesh government to recognize exemplary contributions to the field ef Indigh classical
music, promoting its rich heritage. E-?
2. Statement 2: It is named after Tansen, the famous musician of. r
court and a pioneer of Hindustani classical music )
o Correct: Tansen, one of the Navratnas in Akbar’s court, @Iy influenced

r Akbar’s

hich is believed to be
Tansen's birthplace
o Incorrect: The award ceremony is held in Be walior, which is considered
Tansen's birthplace. The Tansen Music Fe ganized here, but the location is not

Gwalior itself. %
Correct Answer: b) 1 and 2 only \\\,
Explanation: %y
¢

Hindustani classical music. The award honors his lega
3. Statement 3: The award ceremony is organized in&@%_

1. Statement 1: GLP- I agonists are used to manage type 2 diabetes and
obesity
o Correct: ceptor agonists (e.g., liraglutide, semaglutide) mimic the effects of the

natura% e GLP-1, which regulates glucose metabolism and appetite. They are
wid% or glycemic control in type 2 diabetes and for weight loss in obesity.
2. Statement 2 \GLP-1 receptor agonists stimulate insulin secretion only in the
pres evated blood glucose levels
\ ect: GLP-1 receptor agonists enhance glucose-dependent insulin secretion, reducing
% the risk of hypoglycemia because they do not stimulate insulin release at normal or low
blood glucose levels.
Q atement 3: GLP-1 receptor agonists directly increase the production of glucagon
in the body
o Incorrect: GLP-1 receptor agonists suppress glucagon secretion, especially post-meal,
helping to reduce hepatic glucose production and control blood sugar levels.
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Qnb5.

Correct Answer: d) All of the above

Explanation:

1. Statement 1: The SAFE scheme aims to provide affordable rental housing options
for employees in both the organized and unorganized sectors
o Correct: The scheme is designed to address the housing needs of employees a
various sectors, especially targeting urban migrants and workers in unorgani v%rs
who face challenges in accessing affordable rental accommodations. %
2. Statement 2: The scheme is implemented by the Ministry of Housing @nd an
Affairs 822
o Correct: The Ministry of Housing and Urban Affairs oversees the i ntation of the
SAFE scheme as part of its broader mission to enhance urbamhousing facilities.
3. Statement 3: Under the scheme, public-private partnershi %encouraged to build
and maintain rental housing units
o Correct: The scheme promotes collaboration betwge vernment and private
players to increase the availability of affordable | hGUsing through incentives and

streamlined processes. <<,
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